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1.

Factor the expression 16a2 - 81, 2 Foc’ror ihe_}e\)zsre%s on 12x? + Mé ~4 (% |
o} bl
(4&'Q)(4&+q) Q(bﬁ)& tuuz(’ m0> 7K 1D

X =1 )x+8) b
RS

Solve using the best method:

g
%}3 3. 3x2—1'-H iy 4, x2—|x=12 5. 5x2-6x-8= 0
| -1 ~12 e
B i bt JEOHB-8)
Sey - L0 —
$S= =i (KB )(x-H)= 0 9’1\1%%0
82 V% X430 X-\t=0 bt 2022
B8 y=17 X=-3 b x=4 wm o
~— _‘H - L"—[g'.——-.g——"' ..-i
6. Whatis a common factor for the expression 24x2 + 16x + 1442 o b 6
B(3x* 42X +18)
L2
A 16 B. 8X (Cxz+2x+ 18 @.@x@)mxz £9) 5
7. Which of fhesensohows the complete factorization of 6x2y? — 9xy 42¢
1o 1y*-3xy - 14
J{ L 5( nwlt‘j Svl:)\9 u?
A. 3(2xy% — 7)(xy? + 2) @3(2xy 7)(xy +2)
_ Bf3xyt 6) (207 - (S 2XyZ )
8. What are the zeros of the function represented by the quadratic exprgssion  2x2 +
x-32 L ek-3=p
(2x +3Yx -1)=0
A. x=-3/2and x =1 C.x=-1land x=2/3 ‘xa/
X
B. x=-2/3andx =1 D.x=-1and x=-3/2 2% 4
T (B
9. Which of these is the result of completing the square for the expression x2 + 8x - 30¢

XZ+8y+k 201
A. {x+4)2-30 (><+4)2 - 46 C. (x+8)2- 30 D. (x+8)2 - 94 (XHH) —Hb
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10. A garden me&ﬁﬁhﬁ !3?* —'Bff will have a walkway around it. The walkway has a
uniform width, and the areg covered by the garden and the walkway is 19
square feet. What is the Gidtp of the walkway? ‘-{x + Hox +Q(pr l

(Hr1(1242x) = 10 73
% +lta>c+14x+thc 9z i iox -26=0 pey sol
- }x, l

A, 2ft B. 3.5ft C. 4ft
@ > X —1Z.

11. The formula for the area of a circle i |s A= nr2 Which tion shows the formula in
terms of r2 R S M No 1V on +his one

bccause Radius 7# neq.
24 - VA K:'J;

A
F = [ = > " |
n " "

1 Z = —
= 27
i D.
12. What are the solutions to the equation 2x2 - 2x — 12 = 02 Xt220  ¥X-3=0
[ Remcmg.z Solutions, Rod's, 2(¥*- x - k)= C X=-2 K=3

Zeros, & X-int: S ~
@ mean slorle{'erC n9 2(X+2YXx-%)=0

A. x=-4,x=3 B.x=-3,X=4 @x=—2,x=3 D.X = -6, X =2

) cg|gld also use polysalve
uniess on non- Catce.

13.What are the solutions to the equation éx2-x—-40 =0

A Could use poly solv unless -l 4o
O Nnon- MP Y 2e3x Y (Tet 51(/@(’8):0
A. x=-8/3, x=-5/2 C.x=-8/3.x=5/2 §:¢% 15y By -0
! X
= — = = ")"'
B. x=5/2,x=8/3 5/2,x=8/3 7,><+ ”5 \=-5 3xx§ ¢,

14. An object is thrown in the air with an initial velocﬂy of 5 m/s from a height of 9m.
The equation h(t) = -4.912 +_ET + 2 models the height of the object in meters after

tseconds. [ =z-4.QL*+mRt +9
Poly solve M £ Xa=1.95% hit)=0

About how many seconds does it take for the object to hit the ground? Round
your answer to the nearest tenth of a second.

A. 0.940 secs B. 1.50 secs @.OO secs D. 9.00 secs
15.What explicit expression can be used to find the next term in this sequence?
2:8, 18,3250, ...
P B St e §1 18,3280
Lo, € %, 10,12, I Ly 9,5
&%ﬂ B. w C.2n2) D 2
16.Which of ’rhes?s an even fun)}ooréi AS1evéin /‘1 heither.

)Q o) = 5 - }(f(x) i x! @f(x) =64 ax°\ W, fix) = 4+ 24
o.ver- oclcl AL 0dd even oven odd even
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17. Which statement BEST describes how the graph of g(x) :b§x2 compares to the
graph of f(x) = x22
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A. The graph of g(x) is a vertical stretch of f(x} by a factor of 3.
B. The graph of g(x) is a reflection of f{x) across the x-axis.
C. The graph of g(x) is a vertical shrink of f(x) by a factor of 1/3 and a reflection across the x-

axis.
The graph of g(x) is a vertical stretch of f(x) by a factor of 3 and a reflection across the x-

axis. P—
/ \\’/
18.What is the end behavior of the graph of f(x) = -0.25x2 — 2x + 12 pavabolo.
“spirit Enoers . opens down
A. As xincreases, f(x) increases. As x decreases, f(x) decr?éjses. &f[(.c Proum
i 7 As x increases, f(x) decr&Q¥E As x decreases, f{x] dec B
Clowf\ C. As xincreases, f(x) increases. As x decreases, f(x) increases.

down D. Asxincreases, f(x) decreases. As x decreases, f(x) increases.

19.Use the graph to answer the question.

Which function is shown in the graph?

@f(x) =x2-3x-10 X,= -2 Y12 5 £lo)=-10
X)) =x2+ 3x- 104 Y<B P()=lD.
C.f(x) =x2+x-12 x;% X’L}“Hf 'P(O??‘hv ;

D. f(x) =x2=5x-8 y Ty’ vz £(oYE-§
@ Kemember ¥, %y, A

are sSolvtions, x-intercepts, Solutions, &> zeros 7%
@ £(v)=y-intercept o% '(0)y) Lo =1-10

20. The function f(t) = -16t2+ 64t + 5 models the height of a ball that was hit into the air, where 1 is
measured in seconds and h is the height in feet. This table represents the height, gft), &1

[
ball that was thrown into the air. () = = |[pL?% + YL +§' ) Rl o

Which statement BEST compares the length of time each ball is in the air?

A. The ball represented by f(t) is in the air for about
5 seconds, and the ball represented by g(t) is in
the air for about 3 seconds.

B. The ball represented by f(t) isin the air for about
3 seconds, and the ball represented by g(t) is in
the gir for about s seconds. N

C. The ballrepresented by f(1) is in the air for about
3 seconds, and the ball represented by g(t) is in
the air for about 4 seconds. i

The ball represented by f(1) is in the air for about S —— S ——

=% 4 seconds, and the ball represented by g(1) is in OIL-E>/3 j 4\
the air for about 3 seconds.




